
wer. 3

Wiexpol Sp. z o.o. Sp. k. Kolonia Osiek 8 87-340 Osiek www.wiexpol.pl

A

+

       C1                                C2

→
↑1

2

G

H

G

H

 
 

A

C2

C1

D

G/H

 

A

EE

F

B

83

48
9,1

5

1818 (max 20 mm)

53
172

277

97

45
3

X

X (mm)
150 60
200 85
300 135

468

Cargo basket with two levels Cargo basket, three levels
B. Front attachment - 2 pcs.

C. Guide rail fastening - 4 sets

D. Runner - 2 pcs. E. M5x12 - 4 pcs. G. M4x8 - 2 pcs.

F. M5x20 - 2 pcs. H. M4x10 - 2 pcs.

E - front adjustment screws
F - counter screw

Side Cargo Assembly Instructions
two- and three-level 150, 200, 300

Product accessories

Removing the guide bar

Guide rail fastening

Front and slide mountings

Front panel fixing




